olve each equation.
30) 2x - 37 =7x -@x)
KX -37=TTx -3+ )Qx

s g
8 -7y

A
32) -6(3-7)=-18 + 67

‘?f(:f = ’18+((p/(7(

=~ = =

INF I TE
Socomion g

Solve each equation by taking square roots.

34) 5- 852 = =507
-9y 2= '5!&

31) 8(n-6) +8=8n-43
3(\"48 +&= 8n _1-|3
%MHO =8Sn-43
g o
d@i= st
(ioleor Ticr

33) 2(-1-8x) +3x=-3x -2
~Q —loxt dx = “3x —ol
- Q-B= T~

35) 4n* +3 =151 P
Hp? = 148




38) n* -n-56=0 @ —@(p
((\ %}(f\‘\'j> o)

n—g O r\-m (&)
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A0)S95a2 - 4 =0 0 @00
_ gx QSGQ+OCA—°I=0
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5a(5¢r )+ -a(5+a> -
So- =

42) 7a —25a+1§=_3 ; i

2_ =-2-5x
SR

x4 x~30=0 @@

Q<+5)(X~‘—I> O P
v ¥

X5 =0 X~/ 2D

41) 6v* +11v+3=0 i ¥
(@v a‘*qV}%(a\/ 1 .88 =
3V (av+5>+ \<a”3§ 4

3 TN =
(: )(aw—;s) o

V+i=0 vty =o




Solve each equation with the quadratic formula.

44) 3m* —5m 102- 19,
3" 5m—\\a o

S vy
V= —E>t \IL'S_)a_ (45-“&3
DD

Y fa e
vz 2EN85-"1344

45) 9% - 12r = Zra- 12r + 14
B Y s S
Wl ’fOr —-14=p
B0 c: -V
O o8- (4714
e Rt~
Re]
4 o [T
Lo
= 0xl35a
14
x= OXVI19-2
/<
(= 2B =I5 5




48) §+sl3 9x| = -26_

=9 = E_‘i
\3 9&\ =3 ’
® 2-9x =2 & »-9x ==
i o) —x=-(

it %3

Solve each inequality and graph its solution.

49) —15+x<3(7x—5) 50) 2(8 - 4b) < 16 - 8b
T
'l‘5+ 3 < {Gx\s—) 4(8-40) ¢l -8b

§+x<&\x \i (ﬂ g & ‘X_gb
9§< A\ x

-x : ".bé.'— b

I -
==
0] T
[ex] R

51) 4(x-7) > -28 + 4x 52) =5+ 572 2(2 + 51) — dx




' Solve each compound inequality and graph its solution.

53) -61 <3 +8b=27 54) 6n-72470r 10 - 8n> 50
M M—i——i—-&—u—l——o-——'
STOaNeR e i D BT Th -8 = 0 & 8 12
~ (o) <§*sb o (o0-T 247 10-80 Y50
=% % i
’ bn 254 ~§n > 4O

abHiGIRD  Cina s

LR n29 ;

g R = Q *® .
Faabes -
Solve each inequality.

55) |-3n+5| >4 56) al3x-9] =84
L(
D)~z s (B EEnneid 4 |2x-9| 2 an
Sy < <
o4 SR @ 2 ~-9 2 3\ e =9 = Ay

\
[n(/:.,! !(\)55 B=30 3x ¢ “la




